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0554 |02 IRETZEF  |[Ein B ih 0.25 0.36 —  [138R3K
0554 |03 BRIRET 55 |RIdL/E Eih 0.56 0.77 — 133K
0572 |01 B 3 BT o B Eih 0.35 0.42 —  [13fR3R
0572 |02 BRIRBTHREF (B2 /F Eih 0.54 0.57 1.05 [138RIR
0572 |03 BRIRETRE |/ Eih 0.35 0.40 —  [138R3IR
0587 |01 fRIRETZEF  [BRE Eih 0.59 0.69 — 3Rk
0587 |02 SORETZEr (A Eih 0.52 0.68 — 3Rk
0587 |03 RIRETZE  [REE Eih 0.46 0.60 0.90 |138RIk
0588 |01 IRETIZE  [EHEL Eih 0.33 0.44 0.90 [138R 3R
0588 [02 BIRETZE  |[BRER B ih 0.37 0.47 —  [138RR
0588 |03 SORETZEr  [FEIRA] Eih 0.40 0.52 —  [138R3K
0589 |01 IRETZE %A Eih 0.33 0.39 —  [138R3K
0589 |02 tRiRETZE |2 H i ih 0.40 0.49 —  [138R3K
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0618 [02 R IR AT [{m] Eih 0.43 0.70 —  [13fR3R
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0619 o1 SR IR BT ZiR a9 —k 0.22 0.31 57 1383k
0619 |02 SR IR BT BE/HT a>91)—k 0.23 0.29 1.06 [138R3K
0619 |03 B 3R AT INE FAI7ILE 0.31 0.45 138R3R
0619 |04 B3R AT J\I&EMA FAI7ILE 0.22 0.36 —  [138R3R
0620 |0t RIRETZEF |2 EHI O F 0.53 0.68 0.86 [13fRIR
0620 [02 BRIRETZEF  |FE4R T AI7ILE 0.43 0.62 —  [13fRiR
0620 |03 tRIRET 58 |BiF FAI7ILE 0.24 0.39 —  [138R3K
0620 |04 tRIRET 5% |#7R FAI7ILE 0.22 0.30 —  [138R3K
0620 |05 3 BT SR HET b F| 0.51 0.61 0.88 [138RIR
0621 |01 BIRETZEF  [KFHI B ih 0.47 0.63 1383
0621 |02 IRATZE | KF Eih 0.33 0.47 —  [138R3IR
0621 |03 BORETZEF [ i 0.38 0.47 — 3Rk
0622 |01 IRETZE  [#xH Eih 0.26 0.35 —  [13fRiR
0622 |02 IRETZE (#9315 Eih 0.28 0.34 0.73 [13fRIR
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0622 |03 SORETZE [ KFE Eih 0.36 0.48 —  [13fRiR
0645 |01 SORETHE  [FHHA Eih 0.83 1.19 —  [13fRiR
0645 [02 ORISR E B8 EHih 0.78 1.02 —  [13fRiR
0645 |03 ORATREr  [EE Bith 0.57 0.80 1.23 [138R3R
0647 |01 SORETHE  |[HRE B ih 0.59 0.73 —  [138k3K
0647 |02 IRETHE  |[RE Eih 0.97 0.98 —  [138R3K
0647 |03 IRETHEF  |[RE Eih 0.42 0.46 —  [138k3K
0648 |01 IRETHEF  |[RE B jh 0.60 0.79 — 138k
0648 |02 ORATHRE [ AGB Eih 0.61 0.77 —  [13fR3R
0648 |03 IRETHEF (AR Eih 0.66 0.82 — 1383k
0649 |01 RETHE (P& Fith 0.66 0.57 —  [138Rix
0649 [02 BRIk AT B Fith 0.23 0.52 —  [138Rix
0649 [03 SORETHE  [FLU Hih 0.74 0.88 —  [13fRix
0650 |01 SRIRETHEr |8 Eih 0.79 0.89 —  |13fRiR
0650 |02 SORETHE  [fEF Fith 0.47 0.82 —  |13fRiR
0650 |03 SORETHE  |[RH Eh 0.60 0.77 —  |13fRik
0651 |01 B 3w BT 28/1L 1 ih 0.61 0.73 —  [13fRiR
0651 |02 SORATREr | KR Hih 0.71 0.89 —  [138R3K
0651 |03 SURETHE  [IAH Eih 0.64 0.78 —  [138R3K
0652 |01 BRIRBT R E, | fEIfrE Fih 0.48 0.67 1.09 [138R3R
0652 |02 BRIRBTREF  |HSHE] Fih 0.57 0.91 —  [13fRiR
0652 |03 B 3R BT iB 2 Hh 0.53 0.98 1.63 [138R3K
0653 |01 B3R AT BN 1] a>91)—k 0.37 0.65 0.42 [138R3IR
0653 |02 fR 3R AT 55 b F| 0.12 0.21 0.81 [138R3IR
0653 |03 B 3 BT ivd: )} av9)—k 0.23 0.33 — 1383k
0653 |04 f 3R AT TR Fith 0.54 0.71 0.62 [13fRiR
0653 |05 B 3% BT TERT av9)—k 0.29 0.43 —  |138Rikx
0653 |06 B ¥ BT TEHT a9 —k 0.27 0.49 0.79 |138RiR
0654 |01 RIRETZE  [=BIRT T AI7ILE 0.55 0.77 — |13k
0654 [02 Bk 3z T EXCY avo)—k 0.52 0.67 0.76 |13fRIR
0654 |03 RIRETZE  [BEH b F 0.39 0.52 0.91 [138R3R
0654 |04 RIRETZEF Y&/ L Eih 0.50 0.63 1.06 [138Rx
0654 |05 B Ik BT +HT FAI7ILE 0.50 0.62 0.89 [138RIR
0655 |01 RIRET 5% | SE avyl)—k 0.17 0.23 —  [13fR3R
0655 |02 SRIRATZEr | BA#RET FAI7ILE 0.31 0.44 —  [13fR3R
0655 |03 SRIRETZE  [4EET FAI7ILE 0.22 0.32 —  [138k3K
0656 |01 RIRETZE  |BBEH Hih 0.51 0.65 —  [13fR3R
0656 |02 ERIRET 55 | SEHRED Hih 0.42 0.53 —  [138R3K
0656 |03 BIRETZEF LS B ih 0.47 0.62 —  |138Rikx
0657 |01 IRETZE  [HIR FAI7ILE 0.34 0.44 0.50 [13fRiR
0657 |02 BRIRETZEF  [/MUED Hith 0.38 0.48 1383k
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0686 |03 SORETHE [5EH Eih 0.64 0.82 — 3Rk
0687 |01 SORETEE (35T Eih 0.71 0.97 —  [13fRiR
0687 |02 SORETHE  [R_EJI 1R 0.78 1.02 — 3Rk
0687 |03 SRIRETHE [ Eih 0.59 0.83 —  [138R3R
0688 |01 SORETEE (35T Eih 0.69 0.98 —  [138R3K
0688 |02 B IR AT NS EHih 0.81 1.01 1.34 [138R3R
0688 |03 tRIRETRE | /\= (DX 0.63 0.84 —  [13fR3R
0689 |01 B 3 BT R7 T AI7ILE 0.48 0.86 —  [13fR3R
0689 |02 AR BT ey FAI7ILE 0.19 0.28 —  [138R3K
0689 |03 B 3R BT F I HT T AI7ILE 0.40 0.56 —  [13fRIR
0689 04 B3 AT = EE Eih 0.58 0.79 1.27 [138R3R
0690 |01 B3R AT EXr e Eih 0.72 0.93 —  [138RIR
0690 [02 f 3 AT EXr e Eih 0.44 0.64 —  [138RiR
0690 |03 BRIRET 58 |/\FHT Eih 0.65 0.82 —  [13fR3R
0691 |01 SIRETZEF  [HHE] FAI7ILE 0.23 0.37 0.72 |13fRIR
0691 |02 SORETZEr (R B ih 0.41 0.63 —  [138RiR
0691 |03 BRIR BT 5 B EH%‘ 1R 0.33 0.54 0.95 |138Rik
0691 |04 RIRET 5% |BE/IE Eih 0.46 0.58 1388 3R
0692 |01 BRIR BT 5 B I:/7|<'F Eih 0.59 0.77 —  [13fRik
0692 |02 RIRET ZE  |BiE EHih 0.53 0.71 —  [138R3R
0692 |03 RIRET 5% |fEE Bith 0.41 0.56 —  [138R3R
0693 |01 SIRETZE  [—YEA Eih 0.47 0.65 —  [13fRiR
0693 |02 BRIRBTEZEY |FP8 B ih 0.48 0.64 —  [138R3K
0693 |03 RIRAT S Er | EET R 0.34 0.46 — 133K
0694 |01 RIRBTBZE |AEA b F| 0.27 0.46 0.80 [138RIR
0694 |02 BRI BT 3R iZ B | R A Eih 0.31 0.44 0.75 [138R3R
0694 |03 ﬁﬁt’imi,ﬁir L[] b F 0.39 0.53 —  [1383K
0719 o1 KEAE 751 Fix Eih 0.33 0.41 0.99 111
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0720 |02 ERIRETChE | EAT Eih 0.54 0.70 —  [138R3K
0720 |03 tRiRETRE | S HAI Hih 0.64 0.80 —  [13fRiR
0721 |o1 SORETHE  [/MIH Eih 0.73 0.93 —  [138R3K
0721 |02 PORETFEE  [RTF Eih 0.72 0.90 —  [138R3K
0721 |03 FORETFE  [K/T b F 0.53 0.72 — 3Rk
0722 |01 ORETFEE AR 2 Hh 0.65 0.74 —  [138k3K
0722 |02 SORATES;  |[dblL/# Eih 0.84 1.03 —  [13fR3R
0722 |03 BORBTEEF | FxAI Eih 0.66 0.94 — [13fR3R
0723 o1 BORETFE  [[LAH B ih 0.65 0.91 —  [138Rix
0723 |02 BIRETFEEF (B /JH Eih 0.80 1.13 — 1383k
0723 03 SIRETEE  [ARLE R 0.78 1.02 —  [138Rix
0724 |01 SURETFE | E/]R FAI7ILE 0.35 0.54 — 1383k
0724 |02 RIRETEE  [R/E FAI7ILE 0.32 0.46 —  [138Rik
0724 |03 SORETFE  |EEEI b F 0.38 0.63 1.39 [138R ik
0724 |04 SORET T [EH FAI7ILE 0.70 0.89 —  [138R3R
0725 o1 B 3R AT AR 2ith 0.60 0.75 213 [138R3R
0725 |02 A I BT e H Eih 0.57 0.75 —  [13fRiR
0725 |03 RIRATEEr  |BXHE (DX 0.58 0.73 —  [13fR3R
0726 |01 SIRETZEF K Eih 0.67 0.85 —  [138R3K
0726 |02 SR 3 BT RIIE Fih 0.61 0.77 — 3Rk
0726 |03 B 3R BT HE& B ih 0.65 0.83 —  [1383K
0727 |01 IRETZE  [FThEHI B ih 0.67 0.84 —  [138R3K
0727 |02 fRIRETZEF | A H Eih 0.65 0.92 — 1383k
0727 |03 BRIRET 5 57 E,R Fith 0.52 0.66 1.02 138k 3R
0728 o1 BRIRBTZEr  |AEEF Fith 0.40 0.58 0.87 [13fRiR
0728 [02 SRIRAT B8 LRAT Fith 0.74 0.94 1.05 |138R IR
0728 03 SIRETZEE  [ER Hih 0.67 0.83 —  [138Rix
0729 ot FIRETZE  [=R] Eih 0.43 0.54 — |13k
0729 02 IRETZEF  [hE Fith 0.45 0.64 —  [138RiR
0729 03 IRBTZEF  [HEIR R 0.41 0.53 —  [138RR
0730 |01 RIRETHZE |fRE FhF 0.20 0.34 0.76 |138R3R
0730 |02 BRIRET R ZEF |l EHih 0.26 0.37 0.63 [138RIR
0730 |03 BRIRET R 55 AR H Eih 0.40 0.52 —  [13fR3R
0731 |01 RIRETHZE | ERARH Eih 0.40 0.56 —  [138R3K
0731 |02 BRIRBTBZE [/NEE R 0.35 0.44 —  [138k3K
0731 |03 BRIRET R 55 |= R B ih 0.45 0.43 —  [138k3K
0732 |o1 IEN RS B ith 0.49 0.66 — 138k
0732 |02 RIRBTEZEY [ES Fith 0.31 0.43 0.83 [13fRiR
0732 |03 IRET R ZE [T A B ih 0.41 0.59 —  |138Rikx
0755 |01 RS Al F3x i F 0.09 0.94 — 11158
0755 |02 jc-gii._ 3 AR L Fith 0.20 0.66 — 1115
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0755 |03 XE 3HAR L EHih 0.40 0.64 — [11EE
0756 |01 XE 3HAR L R 0.14 0.55 — [11EE
0756 |02 SORATES  |FAE 12 i#h 0.45 0.64 —  [13fRiR
0756 |03 RIRETEE | [RIE Fih 0.73 1.17 —  [138R3K
0757 |01 SIRETFEEF  [JBAI Fih 0.45 0.85 1.50 [138R3R
0757 |02 SORETFE  [BEE Fih 0.81 1.10 —  [138R3K
0757 |03 BRIRETEE  (IW/T Eih 0.65 1.03 —  [138k3K
0758 |01 IRETFE  [HEFH B jh 0.86 1.19 —  [138R3K
0758 |02 BRIRETEE /it Eih 0.92 1.18 —  [138R3K
0758 |03 BRIRETEE: M/ T Fith 0.62 0.83 1.33 [138R 3R
0759 |01 ORETFEEF  [(HI/ T Bih 0.78 1.16 — 1383k
0759 [02 SORETFEr [P Fith 0.62 0.82 —  [138Rix
0759 |03 BIRETEE  [MER Hith 0.65 1.02 —  [138Rix
0760 |01 SORETFE |[HT FAI7ILE 0.35 0.53 —  [138Rik
0760 |02 SORETFE (R FAI7ILE 0.36 0.53 — 1383k
0760 [03 BORETFEE  [EiF TAI7ILE 0.62 0.98 —  [138R3R
0760 |04 SORETHEE [HT B F 0.30 0.46 0.96 [138R3R
0761 |01 AR BT hEREZEE  [Eih 0.73 0.89 138R3R
0761 |02 AR BT g FF 0.70 0.97 —  [13fR3R
0761 |03 AR AT fB5 FAI7ILE 0.38 0.56 —  [138R3K
0761 |04 fR 3R AT % H Eih 0.89 1.13 —  [138R3K
0761 |05 B 3R BT & Fith 0.58 0.71 1.25 [138R3R
0762 |01 B 3R BT TEAE Eih 0.88 1.12 —  [138k3K
0762 |02 B 3w BT /NI b F 0.74 0.91 1.44 [1383kx
0762 |03 f 3 AT FOES b F 0.84 1.18 —  |138Rikx
0763 |01 TR AR B ih 0.77 0.96 — |o7dcfE
0763 [02 BRIRBTZEF |1 Fith 0.72 0.88 —  [138Rix
0763 |03 SORETZEr  |[BER B ih 0.91 1.16 —  [13fRix
0764 |01 T iR ETF Hih 0.74 0.95 — |o7dk{E
0764 |02 SIRETZE  |[RIR Eih 0.84 1.05 —  [138RiR
0764 |03 RIRETZE IR Eih 0.75 0.94 —  [138Rix
0765 |01 T iR BRI Hifh 0.75 0.90 — |o7dbiE
0765 |02 RIRET ZE  |)I4E Hih 0.67 0.89 0.84 [138R3R
0765 |03 SORETZE  [FIIR Hih 0.67 0.90 —  [138R3K
0766 |01 BRIRBTBZET |RIR R 0.34 0.41 0.67 [138R3IR
0766 |02 TERIR &) 3n] JR b F 0.44 0.62 073dkE
0766 |03 ERIRET R ZE | IR R F 0.50 0.70 —  [13fR3R
0767 |01 ERIRBTBEET | B 5% b F| 0.52 0.67 —  [138R3K
0767 |02 BRIRET 55 (B KR Hith 0.56 0.59 —  |138Rix
0767 |03 RIRBTBEEY |3XH b F 0.52 0.71 —  |138Rikx
0792 |01 RELE EEEER B ih 0.20 0.92 1.53 [11{EE
0792 |02 RELE [EEL) b F 0.39 0.40 1.46 [111E8
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0792 |03 REAE {EH 2ih 0.51 0.70 — [11EE
0793 |01 SORET R [LLER i 0.65 0.96 —  [13fRiR
0793 |02 SORATEE  |©2H EHih 0.66 0.92 —  [13fRiR
0793 |03 KELE AHh K 2 ih 0.20 0.96 1.68 [111Ef&
0794 o1 IRETEE [ JBE=HI FAI7ILE 0.46 0.72 1.36 [138R3R
0794 |02 BRIRETEE  FRA Eih 0.83 1.18 — [138R3K
0794 |03 RIRETEE (IS b F| 0.81 1.13 —  [13fR3R
0794 |04 ORETFE  [FEA Fith 0.82 1.17 —  [138k3K
0795 |01 IRATEE |[BE Eih 0.70 0.97 —  [13fR3R
0795 |02 ORETFEEF  ([ERF fbF 0.54 0.76 1.45 [138R 3R
0795 |03 ORETFEEF  ([ERF Fith 0.76 1.13 —  |138Rikx
0796 |01 IRETFEE  [/MNEIX FAI7ILE 0.32 0.60 — 1383k
0796 |02 SORET R [/NEIX FAI7ILE 0.46 0.76 — 1383k
0796 |03 SIRETEE  [RiR Fith 0.26 0.45 1.67 |138R3R
0796 |04 SORETFE  [FEiF FAI7ILE 0.53 0.90 — 1383k
0796 |05 IRETFEE [ TE Eih 0.60 0.79 1.11 [138R3R
0797 |o1 SORETFE  |[MiE a>9)—k 0.23 0.46 0.86 [138R 3R
0797 |02 SIRATEE | A= FAI7ILE 0.52 0.73 —  [13fRiR
0797 |03 BIRATEE  EE FAI7ILE 0.48 0.65 —  [13fR3R
0798 |01 B3R BT =) Eih 0.87 1.10 —  [13fR3R
0798 |02 BIRATEE: |ABH a9 —k 0.35 0.59 1.32 [138R3R
0798 |03 BRIRETEE | RXFET Eih 0.95 1.15 —  [138k3K
0798 |04 B 3R BT [R B ih 0.86 1.14 —  [138k3K
0799 |01 B3R AT EftHE Eih 1.15 1.07 — 138k
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1223 |01 AR ET FAI7ILE 0.60 0.91 2.03 [00A& T
1223 |02 ZHHE FAI7ILE 0.50 0.61 1.40 |00 T
1223 |03 EHHET Fih 0.41 0.57 2.46 |00 T
1223 |04 AR HT TFAI7ILE 0.45 0.70 1.74 [00A&FT
1223 |05 EHHAT b F| 0.46 1.20 2.27 [00&FF
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1224 |01 AR ET T AI7ILE 0.46 0.81 1.42 |00 T
1224 |02 J\EHRT FAI7ILE 0.35 0.70 —  |00KFF
1224 |03 BUEHRT FAI7ILE 0.53 0.82 210 [00A&T
1225 |01 g A AT Eih 1.27 1.82 —  [o0&FT
1225 |02 BT FAI7ILE 0.54 0.81 2.44 |[00A T
1225 |03 ER:) o F 0.47 0.73 —  [oo&Fr
1225 |04 BUEHT Eih 0.74 0.91 —  [oo&Fr
1226 |01 FES WTF FAI7ILE 0.72 1.33 — |o5FEER
1226 |02 o = I T AI7ILE 0.63 0.80 — |o5FER
1226 |03 EER = FAI7ILE 0.58 0.95 — |o5EER
1252 |01 ERER 5 b F 0.36 0.39 072 N7EE
1252 |02 ERER M LEEH Eih 0.31 - 175Z
1252 |03 ERER NS Fith 0.27 — — [171E=
1253 |01 ERER AHA i 0.35 0.44 — [171E=
1253 |02 ERER AHA b F1 0.12 — — [171E=
1253 03 ERER RE Eih 0.41 — — N1EZE
1254 |01 BT EE 3R EAH EHih 0.46 0.55 — [11E=
1254 |02 —FiF X ifi Eih 0.31 — [71E=E
1254 |03 BTEER [RH Fith 0.22 — — [71E=E
1255 |01 FHF e Eih 0.40 0.56 — |[11E=
1255 |02 —FiF X P Eih 0.42 — [7E=
1255 |03 BTEEIR K Eih 0.29 — — |[11E=
1256 |01 LEF #HER Eih 0.48 0.65 — |[11E=Z
1256 |02 FHF L5 Eih 0.34 — |[11E=Z
1256 |03 L5 #HER B ih 0.37 - — [171E=
1257 |01 L5+ = b F| 0.41 0.58 — [171E=
1257 |02 +5F ¥ H Fith 0.44 — [171E=
1257 |03 FHE FRJ\ Eih 0.41 — — N1EZE
1258 |01 LHF EOE i 0.51 0.70 — [71E=
1258 |02 F5HF BA Fith 0.50 0.73 — [171E=
1258 |03 +553F B[ Eih 0.54 0.76 — [171E=
1259 |01 FHF FH Fith 0.59 0.85 — [11E=
1259 |02 F8HF {ERT EHih 0.73 1.00 — |[11E=
1259 |03 EXEH AH Eih 0.74 0.99 — |[11E=
1260 |01 FHF BT Eih 0.71 0.89 — |[11E=Z
1260 |02 N I\ i ih 0.61 0.80 — [7E=
1260 |03 N A5H Eih 0.66 0.93 — [171E=
1261 |01 LN E e AX:] Eih 0.67 0.84 — |[11E=ZE
1261 |02 EXE Rk Eih 0.53 0.79 — |[11BE=ZE
1261 |03 AT R i 0.65 0.89 — |[171E=E
1262 |01 N /Nt 121 0.63 0.86 — [171E&E=
1262 |02 N /NGt B ih 0.55 0.74 — [171E=
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1262 |03 THF =R 2ih 0.59 0.80 — |[171E=
1263 |01 mHER_-TH FAI7ILE 0.27 0.36 — |[171E=
1263 |02 thRk—TH 12 1h 0.15 0.21 191 [17&E=
1263 |03 JthR=TH FAI7ILE 0.29 0.47 — |[171E=
1263 |04 thR=TH Fih 0.32 0.28 176 [17B=
1263 |05 ARR=TH FAI7ILE 0.37 0.58 — |[11E=Z
1263 |06 ARR=TH Fith 0.20 1.04 149 [17B=E
1264 |01 mPL_-TH 12 0.12 0.15 1.78 [17EZE
1264 |02 MPR_TH FAI7ILE 0.24 0.35 — 1EZE
1264 |03 RPR=TH FAI7ILE 0.39 0.50 — [71E=
1264 |04 RPR—-TH TFAI7I)LE 0.27 0.45 — 1EZE
1264 |05 HhE=TH 2t 0.17 1.08 1.71 [17B=
1265 |01 BEFR—TH FAI7ILE 0.35 0.47 1.12 [00&T
1265 |02 BEHPR—TH FAI7ILE 0.28 0.39 1.08 [00A&T
1265 |03 FHBETH FAI7ILE 0.25 0.37 0.82 [00A&FF
1265 |04 FHETETH 5 0.23 1.01 1.75 [00A&FF
1265 |05 FHETETH EHh 0.15 0.94 1.71 [00&FF
1265 |06 FFHETUTH FAI7ILE 0.22 0.40 0.95 |00 T
1265 |07 SHEBTETH b F 0.38 0.56 1.25 [00AFT
1265 |08 SFHEBETH a>9y)—k 0.21 0.38 0.90 |00A& T
1266 |01 Sy H AT M/ FAI7ILE 0.22 0.67 1.62 [00AFT
1266 |02 $7 H AT I\X Eih 0.59 0.75 1.86 [00AFT
1266 |03 S HETTETH FAI7ILE 0.42 0.51 0.86 |04;&F 7K
1266 |04 SFHETMNTH R 0.17 0.78 1.55 |04;&F 7K
1266 |05 FHETETH T AI7ILE 0.30 0.47 1.20 [043F K
1266 |06 SHEI=TH FAI7ILE 0.29 0.46 1.13 |00 T
1267 |01 = BT B ih 0.86 1.10 1.63 [04;5 7K
1267 |02 = gl FAI7ILE 0.27 0.62 — 045K
1267 |03 = FEe il FAI7ILE 0.31 0.43 — 045K
1267 |04 FHETETH FAI7ILE 0.47 0.59 1.05 [04:F 7K
1268 |01 H#a AIE Eih 0.23 0.65 1.05 [04;F K
1268 |02 =15 m AT FAI7ILE 0.29 0.50 1.54 [00A&T
1268 |03 X HT Eih 0.27 1.16 2.03 |00K&F
1268 |04 HZaHE a4y —k 0.36 0.89 1.77 |00 T
1268 |05 HZam b F 0.53 0.77 1.70 [00AFT
1268 |06 HFair O F 0.42 0.55 1.86 |00 T
1268 |07 X T FAI7ILE 0.66 0.75 1.49 |00 T
1269 |01 Xt HT FAI7ILE 0.45 0.69 1.44 00T
1269 |02 X ET FAI7ILE 0.48 0.58 1.37 |00 T
1269 |03 = FHT FAI7ILE 0.48 0.70 1.41 00T
1269 |04 = FHT Eih 0.34 1.17 2.13 [00&FF
1269 |05 = THET FAI7ILE 0.43 0.61 1.27 |00 T
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1269 |06 10 Ly BT FAI7ILE 0.35 0.55 0.97 |00A&JT
1270 |01 HEH B F 0.73 0.98 1.77 [00AFT
1270 |02 1 EET FAI7ILE 0.38 0.61 1.19 |00 T
1270 |03 RN FAI7ILE 0.64 0.98 2.03 [00&T
1270 |04 LI T HET O F 0.64 1.00 1.61 00T
1270 |05 1 EET T AI7ILE 0.51 0.86 1.59 |00 T
1271 |01 S AHT T AI7ILE 0.67 1.02 1.75 |00 T
1271 |02 ¥ AR HET FAI7ILE 0.49 0.77 1.61 [00A&T
1271 |03 R ERNHE T AI7ILE 0.37 0.57 1.18 |00 T
1271 |04 JBET FAI7ILE 0.38 0.62 1.68 |00 T
1271 |05 JE BT FAI7ILE 1.03 1.29 2.39 [00& T
1271 |06 dtHEZANE T AI7ILE 0.50 0.73 1.36 |00 T
1272 |01 REMT T AI7ILE 0.47 0.91 —  |00KFF
1272 |02 REMT TFTAI7ILE 0.43 0.77 1.58 |00 T
1272 |03 2 KHET TFAI7ILE 0.36 0.57 1.64 [00A&T
1273 |01 TEF =t BEih 1.28 1.71 —  |01EF|
1273 |02 BURAT Eih 1.14 1.61 00T
1273 |03 i,ﬁ FAI7ILE 0.35 0.62 2.00 [00AKFT
1273 |04 BEHT Eih 1.66 2.11 00T
1274 |01 EF B/ A ME Eih 0.41 220 — |o1EF
1274 |02 =] =1 [Ea 0.93 1.23 —  |o5EER
1274 |03 i =1 R 1.20 1.42 — |o5EER
1302 |01 ERER 2 /R Eiih 0.31 0.39 — [171E=E
1302 |02 TEREIR 1R Eih 0.23 — — [11E=ZE
1302 |03 EREIR BEEp Fih 0.29 — [171E=E
1303 |01 TEREIR FER Fih 0.25 0.33 — N1EZE
1303 |02 EREIR f+2E15 R | 0.35 — N1EZE
1303 |03 EREIR H+7E5R1  |[Ei 0.25 — — N1EZE
1304 |01 —FiF B 78 Eih 0.37 0.49 — [11EZE
1304 |02 —FiF XE & Eih 0.42 — |[11EZE
1304 |03 —FF Bk Bih 0.35 — — [171EE
1305 |01 —FIF & T EKm Eih 0.41 0.54 — [11E=ZE
1305 |02 —FiF B i 0.38 — [171E=
1305 |03 —FiF th2s Zih 0.32 — — [11E=
1306 |01 —FiF =15 i 0.41 0.61 — |[171E=E
1306 |02 —Fi5 e/ = 2 ih 0.49 — [7E=
1306 |03 —FiF = 4H F] 0.35 — — |[171E=
1307 |01 LHF TFi5 FAI7ILE 0.18 0.29 — |[11E=Z
1307 |02 L5 TEi5 R 0.49 0.60 081 [17EE
1307 |03 LEF st L7 0.33 — 171EE
1307 |04 L5F Kk it 0.50 — — [171E=
1308 |01 +F5F JR b F 0.25 0.43 — [171E=
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1308 |02 FHF 8E/T Hih 0.51 0.75 — [11E=
1308 |03 FHFE N B F] 0.55 0.78 — |[171E=
1309 |01 FHF HE T Bith 0.57 0.83 144 [17BZE
1309 |02 L83 fEH EHih 0.62 0.86 — |[11E=
1309 |03 FHF T Eih 0.59 0.88 — |[11E=Z
1310 |01 L8 & Eih 0.73 1.04 — |[1E=
1310 |02 FHF AiIHE Eih 0.72 0.98 — |[11E=Z
1310 |03 L5 M/ R F 0.45 0.62 — [11E=ZE
1311 |01 HEARE VA1 1l Eih 0.69 0.96 — |[11E=ZE
1311 |02 N L& 2t 0.70 1.03 — |[11B=ZE
1311 |03 HARE 4z B ih 0.66 0.83 — [171E&E=
1312 |01 FARRMETH FAI7ILE 0.31 0.47 — [171E=
1312 |02 TEHF i FAI7ILE 0.37 0.46 — [171E=
1312 |03 THF &H FAI7ILE 0.40 0.53 — N1E=
1313 |01 APR—TH FAI7ILE 0.28 0.51 — N1E=
1313 [02 mPR—TH Fith 0.15 1.08 1.66 1753
1313 |03 FEhRATH FAI7ILE 0.30 0.41 — [71E=
1313 |04 THF \wA FAI7ILE 0.37 0.47 — |[11E=
1313 |05 ARRATH it 0.24 1.01 151 [11EE
1314 |01 EHPR=TH FAI7ILE 0.43 0.71 — [7E=
1314 |02 BEHhRETH FAI7ILE 0.29 0.41 — [7E=
1314 |03 EPR—TH FAI7ILE 0.43 0.54 — |[11E=Z
1315 |01 mPR—TH FAI7ILE 0.33 0.44 0.98 |00 T
1315 |02 E HET/T B 2 0.63 0.80 1.44 |00 T
1315 |03 SFHETNTH av9)—k 0.34 0.50 1.06 |00 T
1315 |04 SHETETH FAI7ILE 0.37 0.49 1.12 |00 T
1315 |05 SHETETH FAI7ILE 0.23 0.32 0.79 [00A&T
1316 |01 EHEBTRT B av9y)—k 0.76 0.96 1.54 [00&FF
1316 |02 FHB=TH Eih 0.75 1.03 1.63 [00A&FF
1316 |03 HHET=TH FAI7ILE 0.24 0.28 0.79 [00A&FF
1316 |04 BZHET_TH FAI7ILE 0.33 0.49 1.00 [00A&FF
1316 |05 S HEET—TH av9)—k 0.36 0.56 0.98 [00A& T
1316 |06 ¥FSHBET—TH FAI7ILE 0.55 0.69 2.32 |00AJT
1317 |01 FSHET=TH FAI7ILE 0.26 0.37 0.86 |00AJT
1317 |02 $SHET=TH T AI7ILE 0.47 0.96 1.49 |00 T
1317 |03 ¥FSHET=TH FAI7ILE 0.46 0.71 0.99 |00A&JT
1317 |04 = A HT Eih 0.26 0.71 1.73 [00AFT
1317 |05 = ;AL ET a9 —k 0.30 0.38 1.02 |00 T
1317 |06 = ;A JLET a9 —k 0.28 0.72 1.19 |00 T
1317 |07 = ET FAI7ILE 0.45 0.83 1.29 |00 T
1318 |01 SR HEAT a9 —k 0.45 0.67 1.31 |00 T
1318 |02 KHET a9 —k 0.72 1.11 1.56 |00 T
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1318 |03 [feE 35 BT FAI7I)LE 0.64 0.95 1.72 |00 T
1318 |04 X ET FAI7ILE 0.42 0.66 1.25 [00AFT
1318 |05 [ 15 BT FAI7ILE 0.23 0.34 0.87 [00&T
1318 |06 e 35 T a9 —k 0.40 0.70 1.44 |00 T
1318 |07 [ERT:0) FF 0.54 0.80 1.56 [00AFT
1318 |08 = ET a9 —k 0.34 1.29 1.93 |00 T
1319 |01 $EHT T AI7ILE 0.52 0.71 1.40 |00 T
1319 |02 FrHT a9 —k 0.56 0.85 1.56 |00 T
1319 |03 B HET a9 —k 0.61 0.91 2.27 [00A&Fr
1319 |04 FrHT a9 —k 0.44 0.65 1.29 |00 T
1319 |05 e 35 T b F 0.64 0.90 1.54 [00A& T
1319 |06 B HET T AI7ILE 0.58 0.79 2.65 |00 T
1319 |07 = NHET T AI7ILE 0.55 0.78 1.72 |00 T
1319 |08 = NHET TFTAI7ILE 0.42 0.59 1.52 |00 T
1320 |01 S HET av9)—k 0.38 0.54 1.46 (00T
1320 |02 {d S BT FAI7ILE 0.65 0.85 2.05 [00A& T
1320 |03 {d S BT FAI7ILE 0.36 0.58 1.35 [00A&FF
1320 |04 {H R AT FAI7ILE 0.37 0.56 1.42 |00 T
1320 |05 = |7 FAI7ILE 0.42 0.65 1.38 [00AFT
1320 |06 FEHT FAI7ILE 0.47 0.65 1.86 |00 T
1320 |07 AT TAI7ILE 0.70 0.92 1.53 [00AFT
1320 |08 FERNHET FAI7ILE 0.33 0.79 1.44 [00AFT
1320 |09 ~'A7<IBT T AI7ILE 0.37 0.59 1.27 |00 T
1320 [10 s A HT b F 0.45 0.63 1.51 00T
1320 |11 /,\EEIIHT o F 0.49 0.76 1.75 |00 T
1320 [12 FAARHT FAI7ILE 0.44 0.62 1.72 |00 T
1321 |01 &R HT a9 —k 0.47 0.69 1.71 |00 T
1321 |02 e Fih 0.53 0.69 2.47 |00 T
1321 |03 [ER:) TFAI7I)LE 0.51 0.82 —  |oo&Fr
1321 |04 JEEHHAT FAI7ILE 0.30 0.60 —  |oo&FF
1321 |05 JEMMET Eih 0.58 1.75 2.75 |00K&F
1321 |06 [ERA) b F 0.91 1.21 1.24 [00A&T
1322 |01 & EHT TFAI7ILE 0.46 0.76 1.42 [00AKT
1322 |02 & R HT FAI7ILE 0.48 0.70 1.55 |00 T
1322 |03 & R HT i 1.57 2.03 3.32 [00KFT
1322 |04 BREMAT FAI7I)LE 0.68 0.99 1.97 [00A&FT
1323 |01 SEF =ARK o F| 0.80 1.24 2.46 [01;EF
1323 |02 SEF =&KX Eih 1.10 1.36 3.52 [01;EFI
1323 |03 JEF =&KX B F 1.33 1.74 —  |o1EFI
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